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Cramer’s Rules
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() N (@ A
-2x-3y=5 -6x-2y=4
-4X + 6y = -2 -3x+4y=7
- NG J
() N (@ A
Xx+2y=-11 S5x+7y=-1
-2x+y=-13 -2x+ 3y =-7
o AN /
() N (© A
-4x -8y =0 -2x+3y=-1
3x-3y=9 -3x+4y=9
- NG J
O N (© A
-8x + 6y = -2 S5x + 2y =-2
-6x+4y =6 -x+3y=-3
- NG
-2x+ 3y =-4 -S5x+6y=1
3x-5y=-1 -7x + 4y =-3
o AN /

www.softschools.com




Name:

a2
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Cramer’s Rules

Date:

(D N (@ \
-2x-3y=5 -6x-2y=4
Ax+ 6y = -2 (1,-1) x+dy=7 (-1,1)
- J L y
O O B
x+2y=-11 -5x+ 7y =-1
2x+y=-13 (3.-7) 2+ 3y=-7 (-46, -33)
- RN y
() N (@ p
-4x-8y=0 -2x+3y=-1
3x-3y=9 (2,-1) . (-31,-21)
- J y
() O, \
-8x + 6y =-2 5% + 2y = -2
(-11,-15) 0,-1)
-bx+4y=6 X +3y=-3
~ L
() N (0
"2x+3y=-4 -5x+ 6y =1
3x-5y=-1 (23, 14) -7x+4y =-3 (L 1)
- RN y
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